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BTof Time Resolution vs # tZeroes Startless
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Mass? vs Momentum (Positive Tracks)
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Mass® vs Momentum (Negative Tracks)
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Mass® vs zdcXrate (Positive Tracks)
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Mass? vs zdcXrate (Negative Tracks)
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Mass? vs Eta (Negative Tracks)
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Mass?2 vs Eta (Positive Tracks) for Vz<0
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Mass2 vs Eta (Negative Tracks) for Vz<0
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Mass?2 vs Eta (Positive Tracks) for Vz>0
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Mass2 vs Eta (Negative Tracks) for Vz>0
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Mass2 vs P (Positive Tracks) for Vz<0&Eta<0
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Mass2 vs P (Negative Tracks) for Vz<0&Eta<0
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Mass2 vs P (Positive Tracks) for Vz>0&Eta>0
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Mass? vs Day (Positive Tracks)
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Mass® vs Day (Negative Tracks)
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Mass? vs Tray(Positive Tracks)
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Mass® vs Tray(Negative Tracks)

]2

=
N

GeV/c?
H
N

m? [




I

m[GeV/Ic,
N

0.6

0.4

0.2

III|III|III|III|III|IL'II|III|III

|
O
N

N
o

40 60 80 100 120
Tray



~

PathL2bTOF(cm

PathL2TOF vs Momentum (Positive Proton)

400 e
3801 ST
360 iR 2L
B -
3401 s
320
300
280
260
240
2201
200:|||||||||||||||||||||||||||||||||||||||||||||||||

o

0.1 0.2 0.3 04 05 06 0.7 08 09 1
p(GeV/c)

10

10

10

1



~

PathL2bTOF(cm

PathL2TOF vs Momentum (Negative Proton)

400
380
360
340 10
320
300
280
10
260

240

220

IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII 1
200 0.1 0.2 0.3 04 05 06 0.7 0.8 09 1

p(GeV/c)

o



PathL2TOF vs Momentum (Positive Proton)
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PathL2TOF vs Momentum (Positive Pion)
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PathL2TOF vs Momentum (Negative Pion)
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